Spring 2, Week 5
English Homework: Parenthesis Answers
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65.9: Punctuation for Parenthesis
1. Which sentence is punctuated correctly? Tick one.

Tam 1.54 metres (5 feet tall)

Tam 1.54 metres (5 feet) tall

Tam 1.54 metres (5) feet tall.

Tam 1.54 metres (5 feet tall

2. Insert a pair of commas in the correct place in the sentence below.
James, a boy in my sister's class, is an amazing tennis player.

3. Which punctuation could be used instead of commas in the sentence below.
Later, after we've finished our homework, we will go to play in the garden.
Brackets / pair of brackets / dashes / pair of dashes

4 Insert a pair of brackets in the correct place in the sentence below.

‘The longest river in the world s the Nile (6,695 kilometres long) in Africa.

5. Which two of the sentences below use punctuation to show parenthesis? Tick two.
We have a toybox it is overflowing with toys - in our playroom. v}
Without a sound, we tidied the books, pens and whiteboards away.

The little owl, i is around 20cm long, is usually seen during the day. Vg

Carrying a large box, the delivery driver tripped over my scooter.
6. Insert a pair of dashes in the correct place in the sentence below.

My dogs - Cass and Jess - love finding lost balls.
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